T T T O e e T e e N A T

Pager1of1 | Words:367 | English (United States) |

p=

ran Demo - MicreseftWord .

Insert Page Layout References Mailings Review View
T | 1 ! 2 | S ! 4 ) 5 | 3
= :

In many countries, senior positions have higher salaries curn!}ared to those of young workers of the
same company. S5ome people think thisisn't justified. Do you agree or disagree?

be directly proportional to the experience of 2 person. Moreover, 2 senior position always requires a
highly competitive and most experienced person.

‘On #ke one hand, = senior position, whichis mostly considered and relsted to the most sensitive and
sccountable position, requires the highly quslified person. Indeed[ifﬁnance budget the high amountin

high-level position also requires intensive sort of work 2s well as the management of lower rank stafﬂ.l
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This requires patience and energy both inorder to manage well & perform your job responsibilitiesin an
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paositive motive in his career path to get the more experience and get #he reward in terms of high bﬂr@e}_ o
It'sdifficult to encapsulzte this broad topicin some words, butafter pondering, | think senior position
must be paid high.

1. Time tzken towrite this?

2. Practice joining sentences using "slthough”
hittp:/fsentence vourdictionary. com/although
http:{wwnw perfectyourenglish.com {grammar/sentence-synthesis-joining-twe-sentences-using-
though-althoush.htm

3. Practice articles- "3, an" and especially "the”

https:/ fwww . grammarly.com/blog/artides!

4. Capitalize the first letter of the first word in 2 sentence.
5. Awoid run-on sentences

http://grammar.ccc.commnet.edu/grammar/runans. htm
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